### **SIGNATURE PAGE**

#### RFQ# F-23-2023

To the Board of County Commissioners of the County of Monmouth:

I (WE) HAVE CAREFULLY EXAMINED THE SPECIFICATIONS.

I (WE) HEREBY CERTIFY PRICES QUOTED ARE IN ACCORDANCE WITH YOUR REQUIREMENTS.

Company Name:	Meshay Resources LLC,
Preparer's Name:	Mother Bayner  (PRINT)
Signature:	10-18-22
Address:	45 Rocco St. Belleville NJ 07109 (DATE)
Telephone No.:	941-928-6382
Fax No.:	
E-Mail Address:	matt@ west bay resources rcom
	***(This should be the email where Contracts would be sent)***
Contact Person:	Meet
FEIN:	
(Federal Employee ID)	

RFB must be received no later than:

#### **REQUEST FOR BID**

----- This Is Not An Order -----



October 19, 2022 10:30AM

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

For D	elivery to:	Various Delivery Locations. See Details Belo	w.		
Deliv	ery Date:	1/1/2023-12/31/2023			
ITEM#	 #	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
CLEA	NERS, DRAIN (	OPENERS, STAIN REMOVERS - ALL ITEMS MU	ST BE FRAGRANCE FREE	4, 400	e Darry Comme
1	ALL PURPOS SPRAYER 32 OZ.	E CLEANER, BOTTLE WITH ATTACHED	9,240 OZ	34.42	413.04
	Packaging:	1 quart (12 per case)	<del></del>	-	
	MFG/Brand:	04.47	<u> </u>		
	Product No:	<del></del>	<del>-</del>		
	Variances, i	rany:	<del>-</del>		
2	ALL PURPOS 64 OZ.	E CLEANER, REFILL - NO SPRAYER	3,840 OZ	\$43.79	328.42
	Packaging: MFG/Brand: Product No: Variances, i	CPC0525:	 	-	.l
3	TOILET BOW 24 OZ.	L CLEANER, PLASTIC BOTTLE	40,320 OZ	\$24.72	2,595.60
	Packaging: MFG/Brand Product No: Variances, i	NABC	_  		
4		EQUIVALENT) GLASS CLEANER WITH PLASTIC BOTTLE WITH ATTACHED	95,496 OZ	\$28.29	5,276.08
	Packaging:	4/1GAL (186.5 cases)	_	•	
	MFG/Brand	3030	_		
	Product No:		<del>-</del>		
	Variances, i	fany: ————————————————————————————————————	<del></del>		

---- This Is Not An Order ----

ş



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

TEN#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
5	FOAM GLASS ( 20 OZ.	CLEANER, AEROSOL CANS	200 OZ 2 cases (rounded)	28.24	56.48
	Packaging:	19 oz Aerosol Spray Can, 6/Carton			_1
	MFG/Brand:	WEIMAN - ESS			
	Product No:	WMN10CT			
Variance	Variances, if	any:			
6	HEAVY DUTY ( 1 GAL.	CLEANER AND DEGREASER	140 GAL(S) 35 crssss	37.12	1,299.20
		1 Caller D. No. 4/Outer		<u> </u>	<u> </u>
	Packaging:	1 Gallon Bt tle, 4/Carton	<del></del>		
	MFG/Brand:	Boardwalk E BWK4744	<del></del>		
	Product No: Variances, if a				
	· ·		·		
7	MULTIPURPOS 32 OZ.	SE CLEANER - NON AEROSOL	13,824 OZ 72 Cases	32.84	2,364.48
	Packaging:	32 oz Spray Bottle, 6/Carton			
	MFG/Brand:	PROCTER & GAMBLE - E			
	Product No:	PGC30110	<u></u>		
	Variances, if a	any:	<del></del>		
8	ALL PURPOSE PLASTIC CONT 17 OZ.	POWDER CLEANSER, LEMON, - TAINERS ONLY	5,712 OZ	$\searrow$	X
	Packaging: MFG/Brand:		<del></del>		
	Product No:				
	Variances, if	any:	<del></del>		
9	KAIBOSH DISIN	NFECTAN* (OR EQUIVALENT) ALL	43,200 OZ	57.54	6,444.48
		) GLASS [:ISINFECTANT (LIQUID),	112 cases		
		LE WITH ATTACHED SPRAYER,			
	32 OZ.	E 2 OZ / 1 GALLON			J
	Packaging:	QUART 12/CSE			1.
	MFG/Brand:	Spartan			
	Product No:	NABC	_		
	Variances, if				

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	N	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
10	DRAIN OPENER, PROFESSIONAL ST 64 OZ.	FRENGTH	11,520 OZ 30 cases	28.57	857.10
	Packaging:  MFG/Brand:  Product No:  Variances, if any:  32 oz Bottle, 12/0  Boardy/alk  BWK4823	Carton			
11	NON-CAUSTIC DRAIN OPENER/CLE. 64 OZ.	ANER	11,520 OZ 30 cases	28.57	857.10
	Packaging: MFG/Brand: Product No: Variances, if any:  32 oz Bottle, 12/ Boardwalk  BWK4823	/Carton		<b>L</b>	
12	BLEACH 1 GAL.		660 GAL(S) 110 cases	35.22	3,874.20
	Packaging: 1 gal Bottle, 6/Ca MFG/Brand: Boardwalk Product No: BWK3406 Variances, if any:	arton			
13	STAIN & ODOR REMOVE R 20 OZ.		3,600 OZ 18.75 cases	35.22	669.18
	Packaging:  MFG/Brand: Product No:  Variances, if any:  32 oz Pull-Top B  CLOROX SALES  CLO31911				
14	LIQUID DISH WASHING DETERGENT 64 OZ.	Г	3,072 OZ 6 cases	59.60	357.60
	Packaging: 1 GAL 4/CSE  MFG/Brand: Spartan  Product No: 765604  Variances, if any:			<b>L</b>	-
15	FURNITURE POLISH, NO LEMON OIL 19 OZ.	-	2,250 OZ 10 cases (est)	70.54	705.40

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
-	Packaging: 19 oz Aerosol Spray. 12/Carton  MFG/Brand: Boardwalk  Product No: BWK346ACT  Variances, if any:			
16	ALUMINUM & STAINLESS STEEL CLEANER 17 OZ.	1,224 OZ 5.6 Cases	58.35	350.10
	Packaging: 18 oz Aerosol Spray, 12/Carton  MFG/Brand: B o a r d w a l k  Product No: BWK347ACT  Variances, if any:			
17	STAINLESS STEEL CLEANER/POLISH 16 OZ	1,536 OZ 7.1 cases	58.35	408.35
	Packaging: 18 oz Aerosol Spray, 12/Cartor MFG/Brand: Boardwalk Product No: BWK347ACT Variances, if any:	<u> </u>		
18	MULTI SURFACE CLEANER 40 OZ.	51,200 OZ 379 Cases	34.42	13,045.18
	Packaging: 2 LITER 4/CS  MFG/Brand: Spartan  Product No: 482002  Variances, if any:	· 		
SOAP	S-PERSONAL USE - ALL ITEMS MUST BE FRAGRANCE	FREE		
19	PERSONAL SIZE BAR SOAP 3.5 OZ.	805 OZ 1.5 cases	54.31	108.62
	Packaging: Paper Wrapped, Floral Fragran MFG/Brand: Boardwalk Product No: BWK JO3SOAP Variances, if any:	<u>ice, #</u> 3 Soap Bar, 144/Carto  	n ·	
20	HAND CLEANER 14 OZ.	2,520 OZ 4.9 cases	40.78	203.90

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#		QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
,	Packaging: 1 GAL 4/CSE  MFG/Brand: Spartan  Product No: 330904  Variances, if any: 55 GAL DRUM	, , , , , , , , , , , , , , , , , , ,		
21	HAND CLEANER 72 OZ.	4,320 OZ 16 cases	169.29	2,708.64
	Packaging:  MFG/Brand: Product No:  Variances, if any:  3.75 oz, 72/Carton  UNILEVER  DVOCB610795CT			
22	POWDERED HAND SOAP 12 OZ.	5,760 OZ	×	×
DISPI	Packaging:  MFG/Brand:  Product No:  Variances, if any:  ENSERS AND REFILLS - SOAPS AND SANITIZERS - AL	L ITEMS MUST BE FRAGRANCE FREE		
23	LOTION CLEANER REFILL, SANI-FRESH 800 ML.	1,152,000 ML(S) 1440 units	54.83	78,955.20
	Packaging:  MFG/Brand:  Product No:  Variances, if any:  800 rnL Bag, 12/Carton  GO-J D  1212CT		<u> </u>	
24	SANI-FRESH DISPENSERS	72 EACH	×	×
	Packaging: MFG/Brand: Product No: Variances, if any:		-	
28	BACTERIOSTATIC LOTION HAND SOAP 1 GAL	120 GAL(S) 30 cases	24.03	720.90

---- This Is Not An Order ----

5



Monmouth County Purchasing
Hall of Records, 3rd Floor
1 East Main Street
Freehold, NJ 07728
(732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: 1 gal Bottle, 4/Carton  MFG/Brand: Boardwalk  Product No: BWK420CT  Variances, if any:	- - - -		
31	HONEY ALMOND LIQUID HAND SOAP 1 GAL	100 GAL(S)	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:	- - -	<b></b>	
32 ·,	ANTIBACTERIAL ULTRA MILD SOAP WITHOUT FORMALDEHYDE, NATURAL BASED 800 ML	48,000 ML(S) 10 cases	42.24	422.40
e got	Packaging: 1.250 mi. Refill. 4/Carton  MFG/Brand: Boardy alk  Product No: BWK83 )0  Variances, if any: Variances, if any: Dispense and page 1.250 mi. Refill. 4/Carton			
CLUI	HS, TOWELS, TOLIET TISSUE, DISPENSERS AND RAGS			
33	WIPING RAGS, 100% COTTON 100 LBS.	1,750 LB(S)	×	×
	Packaging: MFG/Brand: Product No: Variances, if any:	- - -		
35	RECLAIMED POLO WIPING RAGS, 100% COTTON ONLY - NO EXCEPTIONS	2,000 LB(S)	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:	- - - -		
36	TREATED NON-WOVEN DUSTING CLOTHS, 24" X 24" 50 RAGS	5,000 EACH 10 boxes	74.53	745.30

----- This Is Not; n Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: 18 x 24, Yellow, 50/Bag, 10 Bags/Carto Boardwalk Product No: BWKDSMFPY Variances, if any:	on		
37	2 PLY TOILET TISSUE, WHITE 500 SHEETS/ROLL *THIS ÎTEM MUST BE APPROVED FOR US CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES M'\Y BE REQUESTED. 125 ft Roll Le Packaging:	Т	58.10 arton	834.87
	Product No: BWK6180  Variances, if any:			
38	DISPENSER FOR TOILET TISSUE TO FIT ABOVE ITEM	50 EACH	27.36	1,368.00
	Packaging: MFG/Brand: Product No: Variances, if any:  Standard Twin Toilet Tissue Dispe Boardwalk BWK1502  Variances, if any:	nser, 13 x 6.75 x 8.75, Black	L	
39	Roardwalk	19,200 ROLL(S) USE IN A 200 cases T SPEC Sue, Septic Safe, White, 1,000 S	76.23 Sheets, 96 Rolls/	15,246.00 Carton
	MFG/Brand: BOATGWAIK Product No: BWK6170B Variances, if any:	<del></del>		
40	2 PLY JUMBO ROLL TO!! ET TISSUE 1000 FT /ROLL	1,500,000 FT 125 cs	36.53	4,566.25
	Packaging: MFG/Brand: Product No: Variances, if any:  12RL/CS 1000ft ea  Cascades - (Vendor Note: mgeep) B140	)		
41	DISPENSERS TO FIT JIJMBO TOILET TISSUE ROLLS	50 EACH	38.25	1,912.50

---- This Is Not An Order ----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#		QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: Jumbo Twin Toilet Tissue Dispenser.  MFG/Brand: Boardwalk  Product No: BWK1529  Variances, if any:	20.25 x 6 x 12.25, Black — — —		
43	ECOSOFT GREEN SEAL FOLDED TOWELS, NATURAL WHITE, 9.125" X 9.5", 4000 SHEETS	500,000 SHEET(S) 125 cs	26.49	3,311.25
	Packaging: 9.3 x 9.5, Natural White, 250/Pack, 16  MFG/Brand: Boardwalk  Product No: BWK10GREENB  Variances, if any:	Packs/Carton		
44	BAY WEST DISPENSER TO FIT PLY FOLD AND ECOSOFT GREEN SEAL FOLDED TOWELS	24 EACH	26.84	644.16
,	Packaging: 1 EA  MFG/Brand: Boardwalk  Product No: BWK1500  Variances, if any:	_ _ _ _		
45	ROLL TOWELS, WHITE, ABSORBENCY RATE 13 SCC PER .1CC WATER, MUST FIT BAY WEST DISPENSERS 630 FT/ROLL	347,760 FT	×	×
	Packaging: MFG/Brand: Product No: Variances, if any:			
46	ECOSOFTGREEN SEAL ROLL TOWELS, NATURAL WHITE 350 FT/ROLL	6,120,000 FT	×	×
	Packaging: MFG/Brand: Product No: Variances, if any:			
47	BAY WEST LEVER ROLL TOWEL DISPENSER , TO FIT ITEMS 45 & 46	24 EACH	×	×

---- This Is Not Aก Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	# DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging:  MFG/Brand:  Product No:  Variances, if any:			
48	C-FOLD PAPER TOWELS,WHITE, SIZE 11"L X 9.625"W, ABSORBENCY RATE 80-120 SEC TESTED WITH 0.1 ML ON 1 PLY, 100% RECYCLED CONTENT 200SHEETS/PK	558,667 SHEET(S) 233 cs	25.18	5,866.94
	Packaging: 200 Sheets/Pack, 12 Packs/Carton  MFG/Brand: BOARD\VALK  Product No: BWK62: 0  Variances, if any:	* THIS ITEM MUST BE APPROVED  CORRECTIONAL INSTITUTION - PL  A PRODUCT SPEC SHEET. SAMPL  REQUESTED.	LEASE INCLUDE	
49	ROLL TOWEL DISPENSER	50 EACH	×	×
,	Packaging: MFG/Brand: Product No: Variances, if any:			
FLOC	DR AND CARPET CARE - ALL ITEMS MUST BE FRAGRANC	E FREE		
51	FLOOR SWEEPING COMPOUND, WAX BASE 75 LBS./DRUM	150 LB(S)	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:	<u> </u>		
52	FLOOR WAX 55 GALS./DRUM	110 GAL(S)	×	×
	Packaging: MFG/Brand: Product No: Variances, if any:			
53	DEWAXER 55 GALS./DRUM	110 GAL(S)	×	×

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:			
54.	HEAVY DUTY RUG SHAMPOO FOR WATER EXTRACTION MACHINES 64 OZ.	4,096 OZ	×	×
	Packaging: MFG/Brand: Product No: Variances, if any:	<del></del>		
55	SPRAY BUFF 1 GAL.	30 GAL(S)	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:			
56	DEFOAMER 1 GAL.	30 GAL(S)	×	×
	Packaging:			
57	CHEM-TEK (OR EQUIVALENT) FLOOR STRIPPER, NON-CONCENTRATE READY TO USE 55 GALLON DRUM	16 DRUM(S)	636.78	10,188.48
	Packaging: 55 GAL DRUM  MFG/Brand: Spartan  Product No: 008455  Variances, if any: 1 GAL 4/CS; 5 GAL PAIL: 15 GAL DRUI	 		
58	CHEM-TEK (OR EQUIVALENT) FLOOR FINISHER/WAX, NON-CONCENTRATE READY TO USE 55 GALLON DRUM	20 DRUM(S)	919.94	18,398.80

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
,	Packaging: 55 GAL DRUM  MFG/Brand: Spartan  Product No: 405555  Variances, if any: 1 GAL 4/CS; 5 GAL PAIL: 15 GAL DRUM		;	
59	NEUTRA CLEAN BY CHEM-TEK (OR EQUIVALENT) FLOOR CLEANER, NON-CONCENTRATE READY TO USE 55 GALLON DRUM	15 DRUM(S)	324.76	4871.40
	Packaging: 55 GAL DRUM  MFG/Brand: Spartan  Product No: 301655 5  Variances, if any: 1 GAL 4/CS: 5 GAL PAIL: 15 GAL DRU	  <u>IM</u> ; 30 GAL DRUM: 275 GAL TOT	· ·E;	
60	SCOLES X-FACTOR FLC OR FINISH OR EQUIVALENT 5 GAL/PAIL	100 GAL(S)	88.15	1,763.00
	Packaging: 5 GAL PAIL  MFG/Brand: Spartan  Product No: 405505  Variances, if any: 1 GAL 4/CS; 5 GAL PAIL: 15 GAL DRU		ľE;	
61	SCOLES LIFT OFF FLOOR FINISHER OR EQUIVALENT 5 GAL/PAIL	100 GAL(S)	57.90	1,158.00
	Packaging: 5 GAL PAIL  MFG/Brand: Spartan  Product No: 008405  Variances, if any: 1 GAL 4/CS: 5 GAL PAIL: 15 GAL DRUM		<b></b>	
62	SCOLES BLUE CONCENTRATE, HEAVY DUTY NO RINSE CLEANER OR EQUIVALENT 5 GAL/PAIL	50 GAL(S)	29.50	295.00
	Packaging: 5 GAL PAIL  MFG/Brand: Spartan  Product No: 3016.15  Variances, if any: 1 C AL 4/CS; 5 GAL PAIL: 15 GAL DRUM			
63	SCOLES GREEN CLEAN OR EQUIVALENT 1 GAL	50 GAL(S)	10.13	506.50

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM	#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if a	4/1 Gal Spartan 383004 ny:	-		
FLOC	R PADS: STRIPP	ING, BUR FING, BURNISHING, CLEANING			
64	BUFFER PAD, A ADVANCE FLOO 5 PADS/CASE Packaging: MFG/Brand: Product No: Variances, if a		10 PAD(S)	×	×
65	ADVANCE FLOO 5 PADS/CASE Packaging:	C, BLACK, 20" DIAMETER FOR DR MACHINE	10 PAD(S)	×	×
	MFG/Brand: Product No: Variances, if a	ny:	• • •		
66	BUFFER PAD, A FLOOR MACHIN 5 PADS/CASE	IC, RED, 20" DIAMETER FOR ADVANCE	10 PAD(S)	×	×
	Packaging: MFG/Brand: Product No: Variances, if a	ny:	- - -		
67	SUPER STRIPP BURGUNDY	ING PAD, BLACK, 20" DIAMETER,	50 PAD(S)	×	×
	Packaging: MFG/Brand: Product No: Variances, if a	ny:	- - -		
68	LIGHT QUICK S' GREEN 5/CASE	TRIP STRIPPING PADS, 20" DIAMETER,	100 PAD(S)	×	×

---- This Is Not An Order ----

ج



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:	-		
69	NATURAL HAIR BURNISHING PAD, 20" DIAMETER FOR ADVANCED FLOOR MACHINE 5 PADS/CASE	20 PAD(S)	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:			
70	HEAVY BURNISHING PAD, 20" DIAMETER, BLACK 5 PADS/CASE * THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.	100 PAD(S)	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:			
71	LIGHT BURNISHING PAD, 20" DIAMETER, WHITE 5 PADS/CASE * THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.	110 PAD(S)	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:			
72	SURFACE PREPARATION PAD, 14" X 20", MAROON 5 PADS/CASE * THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.	100 PAD(S)	×	×
	Packaging: MFG/Brand: Product No: Variances, if any:			
73	SCRUBBING PAD, 14" X ".0", RED  5 PADS/CASE * THIS ITEL! MUST BE APPROVED FOR USE IN A  CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT  SPEC SHEET SAMPLES MAY BE REQUESTED.	60 PAD(S)	×	×

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging:  MFG/Brand:  Product No:  Variances, if any:			
74	SWIVEL PAD, SUPER DUTY, BLACK, 4.5" X 10" 5 PADS/BAG	100 PAD(S)	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:			
75	SWIVEL PAD THREADED HOLDER	10 EACH	×	×
	Packaging:			
76	TURF PAD, 14" X 20" GREEN FOR TILE AND GROUT	160 PAD(S)	×	×
•	Packaging:  MFG/Brand:  Product No:  Variances, if any:			
CLEA	NING AIDS: BRUSHES, BR DOMS, MOPS, BUCKETS, PLUM	NGERS, DUSTERS, SQUEEGEES, SP	- ONGES, LITTER S	TICKS
77	BOWL BRUSH, WOODEN HANDLE	72 EACH	×	×
	Packaging: MFG/Brand: Product No: Variances, if any:	<del></del>		
78	TOILET BOWL BRUSH, ONE PIECE, SYNTHETIC BRISTLES, WHITE, PLASTIC HANDLE ONLY	40 EACH	×	×

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:	<del></del>		
79	POT BRUSH, HEAVY DUTY WITH HANDLE WITH FOAM BLOCK	n 25 EACH	×	×
	Packaging: MFG/Brand: Product No: Variances, if any:			•
80	12" DECK BRUSH WITH HANDLE AND FOAM BLOCK	24 EACH	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:	<del></del>		
81	DECK BRUSH HEAD- 10" FOAM BLOCK WITH THREADED HANDLE HOLE - SPLIT BRUSH SHAPE, STRAIGHT AND ANGLED MULTILEVEL BRISTLES, LON LASTING BLUE POLYPROPYLENE FIBERS, STAIN RESISTANT	84 EACH	×	×
	Packaging: MFG/Brand: Product No: Variances, if any:	INSTITUTION - PLEASE INCLUDE		
82	8" LONG COUNTER BRUSH WITH HANDLE, PLASTIC HORSEHAIR BLEND, 2.13" BRISTLE TRIM	25 EACH	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:		;	
83	DUST BRUSH, BLACK POLYPROPYLENE BRISTLE, 8" FACE WITH 4" HANDLE, \LL ONE PIECE PLASTIC AND A HANGING HOLE ON THE HANDLE *THIS ITEM MUST BE APPFOVED FOR USE IN A CORRECTI INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.	IONAL	×	X

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging:  MFG/Brand:  Product No:  Variances, if any:			
84	12" TOILET BOWL MOP, PLASTIC HANDLE	100 EACH	×	×
	Packaging:			
85	PLUNGERS, TOILET, LARGE	10 EACH	3.45	34.50
	Packaging: 5.63" dia, Red/Black, Each  MFG/Brand: Boardwalk  Product No: BWK09201  Variances, if any:			
86	17" TOILET PLUNGER - ALL PLASTIC HANDLE WITH RUBBER END, BLACK, LARGE CUP SIZE - THREADED HANDLE	10 EACH	3.45	34.50
	Packaging: MFG/Brand: Product No: Wariances, if any:  18" Plastic Handle, 5.63" dia, Red/Black BOARDWALK BWK09201EA  yes			
87	16" HEAVY DUTY STREET BROOM WITH HANDLE, 5 ROWS NATURAL BASS   IBER, 6-1/4" TRIM	10 EACH	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:		·	
88	24" GARAGE SWEEPER WITH HANDLE	48 EACH	×	×

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:	- - - -		
89	#8 CORN BROOM	36 EACH	×	×
	Packaging: MFG/Brand: Product No: Variances, if any:	  		
90	14" ANGLE BROOM, 100% POLY PROPYLENE ONLY	15 EACH	11.35	170.25
	Packaging: Each  MFG/Brand: BOARDWALK  Product No: BWK932ACT  Variances, if any: 53" Handle, Yellow, 12/Carton - \$96.21	_ _ 		
91	18" HEAVY DUTY STREE I BROOM HEAD, FOAM PLASTIC BLOCK WITH 2 ITHREADED HANDLE HOLES, COURSE BLACK POLYPROPYLENE BRISTLES	12 EACH	×	×
	Packaging: MFG/Brand: Product No: Variances, if any:	_ _ _ _		
92	LOBBY BROOM, BRISTLE - POLYPROPYLENE FILL, 7.5" L X 2" W X 35" H, BLACK	25 EACH	×	×
	Packaging: MFG/Brand: Product No: Variances, if any:	  		
93	12" HEAVY DUTY DUST PAN, 20 GAUGE STEEL, BEVELED EDGE	24 EACH	×	×

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging:  MFG/Brand:  Product No:  Variances, if any:			
94	DUST PAN WITH UPRIGHT 30" LONG HANDLE AND 12" WIDE DUST BIN	12 EACH	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:	  		
95	12" DUST PAN, HAND HELD, ALL PLASTIC WITH NO METAL, WITH HANDLE HOLE	12 EACH	×	×
	Packaging: MFG/Brand: Product No: Variances, if any:			
96	24" PUSH BROOM HEAD, FINE/MEDIUM BLACK POLYPROPYLENE BRISTLES, STRUCTURAL FOAM PLASTIC BLOCK, 2 THREADED HANDLE HOLES	96 EACH	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:	PLEASE INCLUDE A PRODUCT		
97	60" WOOD BROOM HANDLES,1-1/8" DIAMETER, TAPERED	48 EACH	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:			
98	60" BROOM HANDLES, METAL THREAD, PUSH BROOM THREADED	24 EACH	×	×

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging:	<del></del>		
99	24" DUSTLESS MOPS, COMPLETE	12 EACH	×	×
	Packaging: MFG/Brand: Product No: Variances, if any:	<u></u>		
102	DUSTLESS MOP REPLACEMENT HEADS, 36" X 5", SYNTHETIC GREEN, OPEN LOOP, LINT FREE COTTON	46 EACH	×	×
	Packaging: MFG/Brand: Product No: Variances, if any:	FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE		
103	DUSTLESS MOP FRAME, 36" X 5" METAL WIRE FRAME, RUST RESISTANT AND POWDER COAT PAINTED WITH SWIVEL SNAP-TO HANDLE	10 EACH	×	×
	Packaging: MFG/Brand: Product No: Variances, if any:	<del>_</del>		
104	60" THREADED HANDLE - 1" DIAMETER, YELLOW FIBERGLASS, MESH-VEILED TO PREVENT SPLINTERING WITH SUPER TOUGH BLACK NYLON PLASTIC STANDARD THREAD END	96 EACH	×	×
	Packaging: MFG/Brand: Product No: Variances, if any:	* THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.		
105	60" MOP HANDLE, 1" DIAMETER, FIBERGLASS, LATCH STYLE, QUICK CHANGE, HIGH IMPACT PLASTIC HEAD (SNAP-N-GO)	58 EACH	×	×

---- This Is Not An Order ----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging:  MFG/Brand:  Product No:  Variances, if any:			
106	MOP HEADS, 24 OZ., 8 PLY, RAYON, CLOSED LOOP	150 EACH	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:			
107	MOP HANDLES FOR 24 OZ. MOP HEAD, WHITE	24 EACH	×	×
	Packaging: MFG/Brand: Product No: Variances, if any:			
108	MOP HEADS, 20 OZ. 4 PLY RAYON, CLOSED LOOP *THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.	1,992 EACH	×	×
	Packaging:			
112	LAMBS WOOL DUSTER, TELESCOPIC, EXTENDS 33" - 60"	12 EACH	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:			
113	PLASTIC POLYWOOL DUSTER - BRIGHT, MULTICOLOR SYNTHETIC, FLEXIBLE POSITIONING HEAD, TELESCOPIC HANDLE	10 EACH	×	×

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:	_ _		
115	MOP BUCKET, 3" CASTERS, 26 QT.	20 EACH	×	×
	Packaging: MFG/Brand: Product No: Variances, if any:			
116	MOP BUCKET, 14 QT.	20 EACH	×	×
	Packaging: MFG/Brand: Product No: Variances, if any:	<u> </u>		
117	DOWNWARD PRESSURE WRINGERS FOR 26 QT. BUCKET	10 EACH	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:	<del></del>		
118	24" PUSH AND PULL SQUEEGEE	12 EACH	×	×
	Packaging: ————————————————————————————————————	  		
119	8" BLACK RUBBER SQUEEGEE BLADE WITH ALL PLASTIC 20" HANDLE AND 8" SYNTHETIC SPONGE IN NYLON MESH FOR DURABILITY AND ABRASIVE SCRUBBING, TOOL MUST BE ALL PLASTIC NO METAL AND NO SCREWS * THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL	12 EACH	×	×
	INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMP MAY BE REQUESTED.	LES		

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

2

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging:  MFG/Brand:  Product No:  Variances, if any:			
120	CARLISLE P/N 3656703 (OR EQUIVALENT) 20" FLOOR SQUEEGEE HEAD, ALL PLASTIC, SOLID ONE PIECE WITH THREADED END FOR HANDLE	84 EACH	×	×
	Packaging: MFG/Brand: Product No: Variances, if any:	- - -		
121	6 GALLON WINDOW CLEANING BUCKET TO ACCOMMODATE 18" WASHERS AND SQUEEGEES	4 EACH	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:	- - -	•	
122	13' TELESCOPING POLE - 2-SECTIONS	4 EACH	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:	- - -		
123	SQUEEGEE WITH 18" STRIP WASHER	4 EACH	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:	- - -		
124	STAINLESS STEEL SQUEEGE HANDLE WITH RUBBER GRIP	4 EACH	×	×

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: ————————————————————————————————————			
125	18" STAINLESS STEEL SQUEEGEE	4 EACH	×	×
	Packaging:			
126	SPONGES, 4" X 6" X 2"	192 EACH 8 cases	22.52	180.16
	Packaging: 3.67 x 6.08, 1.55" Thick, Yellow, 24/Carton  BOARDWALK  Product No: BWKCS2  Variances, if any:			
127	SCRUBBER SPONGES, SCRUBBER ON ONE SIDE AND SPONGE ON OTHER, 3" X 6"* THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.	20 EACH	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:			
128	MAGIC ERASER BATHROOM SCRUBBER,4-1/2" X 3-1/5" 2 EA/BOX	20 EACH	×	×
	Packaging:			
129	SCOURING PADS, HEAVY DUTY, 6" X 3.85"	20 PAD(S)	×	×

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:		- - -		
130	ALUMINUM LITTER S	STICKS, 36"	50 EACH	×	×
			- - -		
132	NIFTYNABBER GRA	BBER, 36" REACH	86 EACH	32.98	2,836.28
	MICG/Dialia.	36", Black/Green each NGER IGNN900	- - -		
133	NIFTYNABBER GRA	BBE 1, 51" HANDLE	15 EACH	38.31	574.65
	MFG/Brand: UN	i1", Black/Green NGER IGNN140	- - -	<u></u>	<b>I</b>
INSEC	T PESTICIDES AND F	RELATED ITEMS			
134	ROACH AND ANT KI 20 OZ.	LLER	2,880 OZ 14 cases	60.48	958.72
	MFG/Brand: SC	.5 oz Aerosol Spray, 12/Carton JOHNSON JN334632	· - - -	<u>.</u>	
135	HOUSE AND GARDE & HORNETS 20 OZ.	EN SPRAY, MUST INCLUDE WASPS	4,080 OZ 17 cases	55.82	948.94

---- This is Not An Order ----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

## FURNISH AND DELIVER JANITORIAL AND PAPER SUPPLIES FOR VARIOUS COUNTY

ITEM#	DESCRIPTION	ON	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: 12-20 OZ.CAN  MFG/Brand: Spartan  Product No: 682000  Variances, if any:				
136	FLYING INSECT SPRAY 20 OZ.		3,060 OZ 12.75 Cases	53.13	690.69
	Packaging:  MFG/Brand: Product No:  Variances, if any:  12-20 OZ.CAN  Spartan  691900 5  Variances				
PERS	ONAL HYGIENE ITEMS				
137	PAPER TOILET SEAT COVERS * THIS ITEM MUST BE APPROVED FOR INSTITUTION - PLEASE INCLUDE A PROSAMPLES MAY BE REQUESTED.	ODUCT SPEC SHEET.	90 EACH (?)90 cartons	27.69	2,492.10
	Packaging: 250  MFG/Brand: Boardwalk  Product No: BWKK2500B  Variances, if any:	Covers/Sleeve, 10 Sleeve			
138	URINAL SCREENS 24 BLOCKS		1,690 EACH 24 cs	\$164.21	3,941.04
	Packaging: 6 CT OF 12 F  MFG/Brand: Spartan  Product No: 800800  Variances, if any:				
MISC	ELLANEOUS SUPPLIES				
139	LOOSE GRANULAR ABSÖRBENT F PETROLEUM-BASED OILS, GREAS LIKE LIQUID SPILLS, UN CENTED, WHEN USED WITH PETF OLEUM-B OSHA STANDARDS 36 LBS/32QT/BAG	ES AND OTHER NON-FLAMMABLE	15,400 LB(S)	×	×
	Packaging: MFG/Brand:				

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
140	ICE MELTING PELLETS # 50 LB. BAGS	75,000 LB(S) 1500 Bags	10.92	16,38 <sub>0.00</sub>
,	Packaging: 55 Bag: /PALLET  MFG/Brand: SYNA EK (Vendor Note: MGEEP)  Product No: ALLYG50  Variances, if any:	•		
141	WET FLOOR SIGNS - YELLOW, POLYPROPYLENE, 25" HIGH, 2 SIDED, FOLDING * THIS ITEM MUST BE APPROVED FOR UN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.	10 EACH USE	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:			
142	PLASTIC SYPHON DRUM PUMP, HEAVY DUTY, MUST FIT 55 GAL DRUM W/2" OPENING *THIS ITEM MUST BE APPROV FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.	6 EACH ED	×	×
	Packaging: MFG/Brand: Product No: Variances, if any:			
143	32 OZ. SILK SCREENED PLASTIC SPRAY BOTTLE WITH SPRAYER, CLEAR OR WHITE (EMPTY) FOR USE WITH KAIBOSH PRODUCTS (OR EQUIVALENT)	300 EACH	×	×
	Packaging: MFG/Brand: Product No: Variances, if any:	* THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.		
144	32 OZ. PLASTIC SPRAY BOTTLE WITH SPRAYER, YELLOW (EMPTY) * THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.	130 EACH	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:			
145	SPRAY NOZZLE TO FIT 32 OZ. PLASTIC SPRAY BOTTLE (ABOVE ITEM #145 AND #144) - COLOR: RED *THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.	350 EACH	×	×

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Product No:				
146	(ABOVE ITEM #144) FOR USE IN A CORRE PRODUCT SPEC SHE Packaging: MFG/Brand: Product No:	FIT 32 OZ. PLASTIC SPRAY BOTTLE - COLOR: GREEN *THIS ITEM MUST BE APPECTIONAL INSTITUTION - PLEASE INCLUDE A ET. SAMPLES MAY BE REQUESTED.		×	×
147	(ABOVE ITEM #143 APPROVED FOR USE INCLUDE A PRODUCT Packaging: —— MFG/Brand: —— Product No: ——	FIT 32 OZ. PLASTIC SPRAY BOTTLE AND #144) - COLOR: BLUE* THIS ITEM MUST IN A CORRECTIONAL INSTITUTION - PLEASE SPE : SHEET. SAMPLES MAY BE REQUESTED		×	×
148		FIT 32 OZ. PLASTIC SPRAY BOTTLE AND #144) - COLOR: WHITE OR	260 EACH	×	×
	MFG/Brand: Product No:		PRODUCT SPEC SHEET.	4	
149		FIT 32 OZ. PLASTIC SPRAY BOTTLE AND #144) - COLOR: YELLOW	10 EACH	×	×
	Packaging: MFG/Brand: Product No: Variances, if any:		* THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.		
150	WHITE FOAM COFF 1000/CASE	EE C JPS, 8 OZ.	1,000 CUP(S)	×	×

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging:  MFG/Brand:  Product No:  Variances, if any:	<u> </u>		
151	TWO-PLY POLY TWINE, 10 LB., NYLON	8 ROLL(S)	×	×
	Packaging:			
WAST	FE AND RECYCLING CONTAINERS			
152	32 GALLON CONTAINER WITH LID, GRAY	20 EACH	64.44	1,288.80
	Packaging:  MFG/Brand:  Product No:  Variances, if any:  Each 32 gal, Gray  Rubbermade  RCP863292GRA			
153	32 GALLON CONTAINER WITH LID, WHITE	10 EACH	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:			
154	RUBBERMAID (OR EQUIVALENT) WASTE BASKETS, 14.25" X 10.5" X 15", BLACK, MUST BE FLAME RETARDANT	36 EACH	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:	* THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.		
155	13 QT. WASTE BASKET	75 EACH	×	×

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM# DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
Packaging:  MFG/Brand:  Product No:  Variances, if any:			
156 28 1/2 QT. WASTE BASKET	75 EACH	4.70	352.50
Packaging:  MFG/Brand: Product No:  Variances, if any:  28 qt, Black - EA  BOARDWALK  BWK28QTWBBLA	· · · · · · · · · · · · · · · · · · ·		
157 20 GALLON WHEELED TRASH CAN WITH LID	20 EACH	×	×
Packaging:			
158 RUBBERMAID (OR EQUIVALENT) 20 GALLON TR CAN WITH LID, NO WHEELS	ASH 20 EACH	×	×
Packaging:		L	<b></b>
159 55 GALLON ROUND WASTE CONTAINER, GRAY, WHEELS, FLAME RETARDANT	NO 32 EACH	×	×
Packaging: MFG/Brand: Product No: Variances, if any:	* THIS ITEM MUST BE APPROV FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTEI	DE	•
NVIROX BRAND PRODUCTS	THE SHAPE STATE OF		
161 ENVIROX H2 ORANGE2 CONCENTRATE 117, SANITIZER/VIRUCIDE CI EANER 4 GAL/CASE	200 GAL(S) 50 cs	75.38	3,769.00

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

## FURNISH AND DELIVER JANITORIAL AND PAPER SUPPLIES FOR VARIOUS COUNTY DEPARTMENTS FOR THE PERIOD JANUARY 1, 2023 THROUGH DECEMBER 31, 2023

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: 4/1 Gal  MFG/Brand: Spartan  Product No: 101804  Variances, if any:			
162	ENVIROX H2 ORANGE2 CONCENTRATE 117, SANITIZER/VIRUCIDE CLEANER - BULK 55 GALLON DRUM	57 GAL(S)	\$1,241.96	\$1,271.96
	Packaging: 55 GAL DRUM  MFG/Brand: Spartan  Product No: 10 855  Variances, if any:	* THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.		
163	E2B2 WALL MOUNT DISPENSING SYSTEM W/COLOR-CODED/ BI-LINGUAL SUPPORT MATERIALS	10 EACH	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:	<del></del> <del></del>		
164	ENVIROX H2GO PORTABLE DISPENSER FOR USE WITH H2ORANGE2 117	10 EACH	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:	_		
165	ENVIROX (COLOR CODED) GREEN LABEL, EMPTY SPRAY BOTTLE FOR USE OF #117 H2ORANGE2, 32 OZ CAPACITY	350 EACH	×	×
	Packaging:  MFG/Brand:  Product No:  Variances, if any:	* THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.		
166	ENVIROX (COLOR CODED) RED LABEL, EMPTY SPRAY BOTTLE FOR USE OF #117 H2ORANGE2, 32 OZ CAPACITY * THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET.	350 EACH	×	×

SAMPLES MAY BE REQUESTED.

---- This Is Not An Order ----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

### FURNISH AND DELIVER JANITORIAL AND PAPER SUPPLIES FOR VARIOUS COUNTY DEPARTMENTS FOR THE PERIOD JANUARY 1, 2023 THROUGH DECEMBER 31, 2023

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any: -				
***SEE	ATTACHED SPECIFIC	N THE UNIT OF MEASURE*** CATIONS**** BMITTED IN WRITING TO:	ТОТА	L:	

#### Various Delivery Locations:

FORMALBIDQUESTIONS@CO.MONMOUTH.NJ.

Division of Highway **Public Works Complex** 250 Center Street Freehold, NJ 07728 Cassandra Deckle 732-431-6550

**Buildings & Grounds/Trades Special Services Complex** 300 Halls Mill Road Freehold, NJ 07728 Karen Retzer 732-431-7360 x2133

Division of Fleet Services **Public Works Complex** 250 Center Street Freehold, NJ 07728 Joe Ponisi - x7165 or Kyle Dodig - x7164 732-431-7830

Sheriff's Office - Correctional Institution P.O. Box 5007 1 Waterworks Road Freehold, NJ 07728 Jeff Sauter 732-431-7860 x1203